IREEAMEIL: (ER- SRR
BEE=:

GAMMATRITR—ZRFAAIRIT, KESMIRT R, WEEWRF. BHKF. RE~R. 557 n%F.
ZATEANEEFRZXEE R, Alt, ZEFERARANEESIN, B E. BFEd. W RS
#HE. FURTE. EXMERT, GAMMAZPRITHEREGRAIRIXIEELMAEF. RITER
e T — A RBERXEER-FIER.

WE, RTIEESKERIEE,

bagi=LoN

LARE Rl ERHEFRIE R RRRL E ST A=,

BT TIEZINEFEILEE, TSR 2EXSRHEH A ER-RRSGE,

i)

ID Gender Age Region_code

NNVBBKZB Female 73 RG268

IDD62UNG Female 30 RG277

BFFERAX:
Variable
ID
Gender
Age
Region_Code
Occupation
Channel_Code
Vintage
Credit_Product
AvgAccountBalance

Is_Active

Is_Lead(Target)

Occupation Channel_Code Vintage Credit_Product Avg_Account_Balance Is_Active

Other X3 43 No 1045696 No
Salaried X1 32 No 581988 No
Definition

ID for Customer

Gender of Customer

Age of Customer

Code of the Region for the Customer

Occupation Type for the Customer

Acquisition Channel Code for the Customer(Encoded)
Vintage for the Customer(In Months)

If the Customer has any active credit product
Average Account Balance for the Customer in last 12 Months
If the Customer is Active in last 3 Months

If the Customer is interested for the Credit Card

O:not interested 1:interested

0 150003
1 46577
Name: Is Lead, dtype: int64

Is_Lead
0

0


af://n0
af://n2
af://n5

RGZE8 28715
RG283 23620
RGZa4 21334
RGZE4 15461
RG2TT 10281
RGZ80 10232
RG2E9 6264
RGZT0 6104

RG261 6073
RGZaT 4910
RG251 4732

RG282 4682
RGZTZ 4225
RG274 4218
RGZ81 4063
RG273 3593
RGZ52 3493
RG279 3233
RGZ63 2983
RG2T5 2597
RG2E0 2502
RGZ26 2238
RG276 2235
RGZ64 2219
RG239 2087
RG220 1991
RG235 1614
RGZ58 1238
RG253 1502
RG278 1437
RGZ62 1429
RG2E6 1269

RGIT1 1241
RG262 1239
RGI6T 1206

Name: Region_Code, dtype: intf4

X1 82862
X3 05064
X2 54180
X4 4474

Name: Channel Code, dtype: int64

Self Emploved 80732

Salaried 57486
Other 56252
Entrepreneur 2110

Name: Occupation, dtype: int64

Is_Lead BPAFBETMNNE
WL : 196580

MiEE : 49145(without Is_Lead)



TN EIR:

AUC(Area Under Curve) : ROCHAZ NSAMRAHEIRAYERR. AUCRIEESBEIE0.5A11Z A, AUCiH:
B, welEENESTENS.

from sklearn.metrics import roc_curve, auc
fpr, tpr, thresholds = roc_curve()
roc_auc = auc(fpr,tpr)

{EdVESK

PHENK:
BMA—E, —HrI=A (31+28) , TJEENIZERN. BEREIEEMNERIRSEFE.
SCOS4EER

REAR: £11.850E, RINSHRRBEAHMTENRT, SARRDAEERS =R, XHaRERE
HSHER.

XHEN: BT ESTEYENTINLER
Is_ Lead
0.930

0.015

0.873

IHAOTED-1 28]

EREESERRIFIL:

REAE: A (RlURE REMUERE AHTEERAFREE BRRRSTHA.
(REQE: WO, FERLERE, EBIRTEUNERE (FiElREHTEREML) }
{(RETMNERESHMTEIENRN, BINAFERIE A RERF}

REN: EEEIBSHERIA, flnT14E.zip

Rt SEEBAE. REREMES, AFEMRRELLIE, HErT+hanEnrbiaRRES
AR S (MRHEECHIERL) | RIS,

HERZAE: 11.14
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